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5¿: 1. ¤k�KÑL�3dÁò��µ�m>, �3Ù§�þ�ÆÃ�.

2. �µ��>�Õ�K, �µ�	Ø�k6¶9�'IP.

3. X�K�xØ
, ��3���¡, ¿I²KÒ.

�! (�K 20 ©, z�K 5 ©) W�K
�©

µ�<

(1)¢�g. 2x1x2 − x1x3 + 5x2x3 �5�.�

−−−−−.

(2) ?ê
∞∑
n=1

n

3n
�Ú� −−−−−.

(3) O�1�.­¡È©��µ

I =

∫∫
x2+y2+z2=1

(x2 + 2y2 + 3z2) dS =−−−−− .

(4) A = (aij) � n �¢é¡Ý
 (n > 1), rank(A) = n− 1, A �z1���Úþ

� 0.� 2, 3, . . . , n � A ��Ü�"A��. ^ A11 L« A ��� a11 ¤éA��ê

{fª. Kk A11 =−−−−−.
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�!(�K 15 ©)��m¥½: P ��½�� l �å
�©

µ�<

l� p. �x¥¡¥�z�¥¡ÑL: P , ���� l ��

�u�Ñ´½� a. ¦T¥¡x�¥%�;,.
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�� n!£�K15©¤� Γ =

{(
z1 z2

−z2 z1

)
|z1, z2 ∈ C

}
,

�©

µ�<

Ù¥ C L«Eê�. Áy²µ ∀A ∈ Γ, A �JordanIO

/ JA E,áu Γ; ?�Ú��3�_Ý
 P ∈ Γ ¦�

P−1AP = JA.
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o!£�K20©¤�
�©

µ�< f(x) =

x sin 1
x
, x 6= 0;

0, x = 0.

¦÷vØ�ª

sup
x 6=y

|f(x)− f(y)|
|x− y|α

< +∞

���~ê α.
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Ê!£�K15©¤�a(t), f(t) �¢ëY¼ê§∀t ∈ R

�©

µ�<

k f(t) > 0, a(t) > 1.
∫∞
0
f(t)dt = +∞. ®� C2 ¼ê

x(t)÷v

x
′′
(t) + a(t)f(x(t)) 6 0,∀t ∈ R.

¦yµx(t) 3[0,+∞) kþ..
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8!£�K15©¤� f(x) 3«m [0, 1] þëY��,
�©

µ�<

� f(0) = f(1) = 0. ¦y:(∫ 1

0

xf(x)dx

)2

6
1

45

∫ 1

0

(f ′(x))2dx,

�Ò��=� f(x) = A(x− x3) �¤á, Ù¥ A ´~ê.
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